PM 168 TWIN - copk 180

PM 120 TWIN - copk 170
PM 96 TWIN - copk 160
* HOLDING CAPACITY: PM 168 168 plates
PM 120 120 plates
PM 96 96 plates
Do .
PM 120 158 cm
PM 96 138cm
« IENGTHOF PM168,PM120,PM96
UNDERCARRAGE: 120 am
e = e
UNDERCARRIAGE: 60 cm
e NET WEIGHT: PM 168 31,6 kg
PM 120 25,7 kg
PM 96 23,6kg
o ey g P
PM 120 28 kg
PM 96 26 kg
e BOX PM 168, PM ]20,. PM96 ............
UNDERCARRIAGE: 60X 121 X19cm
G
PM120 19X19X 147 cm
PM 96 19X19X127 cm
e
1 Inch=2.54 cm
The PM TWIN models are new in the PLATE MATE range.
You will find that these models are available in three versions, the PM
168 Twin for 168 plates, the PM 120 Twin for 120 plates and the PM
96 Twin for 96 plates. The PM 168 Twin is the largest PLATE MATE in
the ron?e. The columns can turn independently of each other in the
frame full of plates with a diameter of up to 33 cm. Corrosion
resistant materials are used in the construction, for example, the
frames are made from stainless steel and the columns from aluminum
and plastics. Cleaning can be done easily with a high-pressure
cleaner or with a brush and « c|ec|ning agent. To protect pre-
prepared dishes or deep away odors, a profective covering is
available for every PM Twin model.
Mate:
Plate '

. space SA4C
The L7 o
/——___—-_ ‘mN\N.‘ﬂcﬂe"“d‘e'c

The Product Group, Inc. 1-800-860-6283
Canton, Ohio www.plate-mate.com



PM 168 TWIN - copk 180

R T T AR R R R R R R R T I I I N I

PM 120 TWIN - copk 170

®ssssssesrsttensansassastssstsescsanrnannan cssvssany —

PM 96 TWIN - copE 160

P e NSRS IEs I TNEsREERERBERRERERBERERBRRTSS eseses

ASSEMBLY

When mounting the PLATE MATE, proceed as follows:

Take the cart, the swivel wheels and the bridge posts + coupling unit out of the box.

Check if the swivel wheels have been mounted; if not, mount them using the nuts M10.

Place the cart with the swivel wheels on the floor.

Take the PLATE MATE columns and the two stainless steel runners out of the box.

Mount the two stainless steel runners into the tubes on the cart and mount the screws 3, 5 X 19 mm.
Put the two plastic slip-on caps over the tubes and over the screws.

Mount the coupling unit between the bridge posts by sliding them info the tube and tapping them
in with a rubber hammer.

Mount the columns into the cart.

Put the columns into the foot on the cart and mount the bridge (bridge posts + coupling unit) on
the cart with columns. The centering-pins fits through the bridge exc:cr?y in the column heads. Now
your PLATE MATE is ready.

Maintenance: Cleaning can be done with a high-pressure cleaner or with a brush and a cleaning
agent. To protect pre-prepared dishes or keep away odors, a protective covering is available for
every PM Twin model.

D@ - Nosihils wioe

PARTS LIST PM 168/120/96 TWIN
L. Code 180/170/160
WS Part Name Part No. | Quantity
Aluminum main column | varied 2
e Adjusting screw - M6 X 60 01 8
Plastic hood 02 2
PM168 TWIN __— Hoisting block 03 8
CODE 160 - -—
Extension piece 04 8
TS e Bracket set 1 os varied
PM120 TWIN _— | v Black stay cap 06 varied
b i Red shuttle 07 varied
Z‘g%i ::g“ 2 Corner bracket Right 7 08 varied
T Corner bracket Left 08A varied
Plastic foot - hole 10 mm g 09 2
Plastic end parts in column P R 8
Column connecting screw -M10 X 40 TWI 2
ST | Nut self locking -M10 ™W2 o
Washer - 30 X 10 mm g W3 2
TBM el s o= Stainless tube bridge posts W4 1
Centering pin 10 X 70 mm TW5 2
- e Plastic corner connection pieces TWé 2
i W | Stainless steel longitudinal runners ™7 2
§ | Screws - 3,5X 19 mm ™Wws | 2 | 4
i iy Plastic Slip-on caps i ™W9 2
Stainless base - 1200 X 600 mm wio [ 1|
Swive“ing_whee( {with brake) - 125 mm W11 2
Swivelling wheel - 125 mm W12 2

© Copyright 1996 The Product Group, Patented by H.T.H. b.v. Netherlands



